INDEXABLE INSERTS

Part N Dimensions, mm
m j ' L w T A @D
_____EP_____ e o s PL7.651215 7.65 12 15 2 4
| PL9 1215 9 12 1.5 2 4
m PL15121.5 15 12 1.5 2 4
.—»IL T PL2012 1.5 20 12 1.5 2 4
m Dimensions, mm
rt No.
L Fart o L w T A 2D c
= ?35" PL25121.5 25 12 1.5 2 4 14
|_ 1A B EDI: PL301215 30 12 15 2 4 14
’ | PL40121.5 40 12 1.5 2 4 26
= bl c . = # PL50 1215 50 12 1.5 2 4 26
O L PL60 1215 60 12 15 2 4 26
m PL80 1222 80 13 2.2 2 4 26
PL100122.2 100 13 2.2 2 4 26
Dimensions, mm
Part No. L W T ry oD
PL12121.5 12 12 1.5 4 4
Dimensions, mm
Part No. L W T ry oD
PL14 1415 14 14 1.2 4 8.5
PL14142 14 14 2 4 6.5
Dimensions, mm
Part No. L W T ry oD
PL19.512 1.5 EC 19.5 12 1.5 4 4
Dimensions, mm
Rart No. L w | T A | o0 | C
PL29.591.5EC 29.5 9 1.5 4 4 14
PL29.512 1.5 EC 29.5 12 15 4 4 14
PL39.591.5EC 39.5 9 1.8 4 4 26
PL39.51215EC 39.5 12 1.5 4 4 26
PL 49.5 12 1.5 EC 49,5 12 1.5 4 4 26
PL59.512 1.5 EC 59.5 12 1.5 4 4 26
Dimensions, mm
Pantho. L w T A @D c
PL5012 1.7 EC 50 12 1.7 4 4 37
Dimensions, mm
Part No. L W T ry oD
PLR 20 12 20 12 1.5 2 4
Dimensions, mm
Part No. L W T ry oD
PLT 22 n/a 22 2 3 6.5
Dimensions, mm
Part No. L W T ry oD
PLS 18 18 18 1.85 4 10.3

EC = End Cut A = Number of cutting edges

REPLACEABLE INSERTS & PARTS FOR REPLACEMENT INSERT ROUTER BITS

T = All straight Router Bits without bearings or iad i
DESCRIPTION Part No. Sl & Badrig or 16 Ehae, st dapiiod ;Opfgtgg'tﬁg in
Torx Key All bits prefix RSP T14 with end'em_llng inseris. plastic box
Torx Key All other bits T15 siinzarte canibs removed and Teplaced:

- : without removing cutter from the routing

Torx Head Screw All bits prefix R&RV M4 machine.
Torx Head Screw All bits prefix RS M3.5 CAUTION
Torx Head Screw All bits prefix RSP M3 + DO NOT OVERTIGHTEN TORX SCREWS

; ; * When tightening screws, ensure that
Bearing Screw : All b!1s : M4 inerts are haid fimly info pocket for
Replacement Bearing | All bits prefix R TB5 correct location
Replacement Bearing | All bits prefix RV TB 4 or TB 20 + Ensure tip seating is free of burs and resin

orTB 18 when changing blades.

When ordering replacement blades:
State * Insert Number eg.PL30121.5

>




